1 Graphical results

1.1 Comfort variation for each variable

1.1.1 Statistical model
1.1.1.1 Variation with Iyy
1.1.1.1.1 Varying CoGz

CoGz =0.6617, CoGx = 0.0034, Mass = 3.4805

CoGz =0.6770, CoGx = 0.0034, Mass = 3.4805
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1.1.1.1.3 Varying mass

CoGz =0.6617, CoGx = 0.0034, Mass = 3.4805
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1.1.1.2.2 Varying CoGx

lyy = 50.2870, CoGx = 0.0034, Mass = 3.4805
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1.1.1.3  Variation with CoGx
1.1.1.3.1 Varying I,y
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1.1.1.3.3 Varying mass
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1.1.1.4  Variation with mass
1.1.1.4.1 Varying I,
aa lyy = 50,2870, CoGz = 0.6617, CoGx = 0.0034 as lyy = 51,6410, CoGz = 0,6617, CoGx = 0.0034
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1.1.1.4.2 Varying CoGz
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1.1.1.5 \Variation with speed
1.1.1.5.1 Varying I,y
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1.1.1.5.3 Varying CoGz
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1.1.2.1.2 Varying CoGx

CoGx = 0.0034, Mass = 3.4805, CoGz = 0.6617

CoGx = 0.0103, Mass = 3.4805, CoGz = 0.6617
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1.1.2.2 Variation with CoGz
1.1.2.2.1 Varying I,y
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1.1.2.2.3 Varying mass

CoGx = 0.0034, Mass = 3.4805, lyy = 50.2870

CoGx = 0.0034, Mass = 8.7012, lyy =50.287
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1.1.2.3  Variation with CoGx

1.1.2.3.1 Varying I,

CoGz = 0.6617, Mass = 3.4805, lyy = 50.2870

CoGz = 0.6617, Mass = 3.4805, lyy = 51.6410
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1.1.2.3.2 Varying CoGz

CoGz = 0.6617, Mass = 3.4805, lyy = 50.2870

CoGz = 0.6770, Mass = 3.4805, lyy = 50.2870
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1.1.2.4  Variation with mass
1.1.2.4.1 Varying Iy,
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1.1.2.4.3 Varying CoGx

CoGx = 0.0034, lyy = 50.2870, Cagz = 0.6617

CoGx = 0.0103, lyy = 50.2870, Cogz = 0.6617
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1.1.2.5.2 Varying CoGx
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1.2 Contour Maps

1.2.1 Statistical data

1.2.1.1  Variation with speed and I,,,,
1.2.1.1.1 Varying CoGz
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1.2.1.1.2 Varying CoGx
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1.2.1.1.3 Varying mass
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1.2.1.2.2 Varying CoGx
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1.2.1.3  Variation with speed and CoGx

1.2.1.3.1 Varying I,
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1.2.1.3.3 Varying mass
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1.2.1.4  \Variation with speed and mass
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1.2.1.4.2 Varying CoGz
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1.2.1.5 Variation with mass and Iyy
1.2.1.5.1 Varying CoGz

Comfort [mis®] (CoGx=0.0034, Speed=25.0000, CoGz=0.6617) Comfort [mis?] (CoGx=0.0034, Speed=25.0000, CoGz=0.6770)
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1.2.1.5.2 Varying CoGx
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1.2.1.5.3 Varying speed
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1.2.1.6  Variation with mass and CoGz
1.2.1.6.1 Varying I,
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1.2.1.6.2 Varying CoGx
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1.2.1.7 Variation with mass and CoGx
1.2.1.7.1 Varying Iy,

Comfort [mis?] (lyy=50.2870, Speed=25.0000, CoGz=0.6617) Comfort [mfs?] (lyy=51.6410, Speed=25.0000, CoGz=0.6617)
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1.2.1.7.3 Varying speed

Comfort [mis?] (lyy=50.2870, Speed=10.0000, CoGz=0.6617) Comfort [mis?] (lyy=50.2870, Speed=25.0000, CoGz=0.6617)
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1.2.1.8 \Variation with CoGz and CoGx
1.2.1.8.1 Varying I,
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1.2.1.8.2 Varying mass
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1.2.1.8.3 Varying speed
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1.2.1.9 \Variation with CoGz and Iyy
1.2.1.9.1 Varying CoGx

Comfort [mis?] (CoGx=0.0034, Speed=25.0000, Mass=3.4805)
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1.2.1.9.2 Varying mass
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1.2.1.9.3 Varying speed
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1.2.1.10 Variation with CoGx and Iyy
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1.2.1.10.2 Varying mass
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1.2.2 Raw model
1.2.2.1  Variation with speed and 1,
1.2.2.1.1 Varying CoGz
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1.2.2.1.3 Varying mass
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1.2.2.2  \Variation with speed and CoGz
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1.2.2.2.2 Varying CoGx
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1.2.2.3  Variation with speed and CoGx
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1.2.2.3.3 Varying mass
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1.2

Mass [ka]

.2.4.2  Varying CoGz
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1.2.2.5 \Variation with mass and I,,,
1.2.2.5.1 Varying CoGz
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1.2.2.5.3 Varying speed

Mass [kg]

Comfort [mis2] (CoGz=0.6617, Speed=10.0000, CoGx=0.0034)

164
- 162
- 18
158
1.58
154
152
15
148
148
144

'W ['“J"’“ 1
Comfort [mis2] (CoGa=0.6617, Speed=20.0000, CoGx=0.0034)
e

258

-25

251

Mass [ka]

yy [kg'm?]

1.2.2.6  Variation with mass and CoGz
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1.2.2.6.2 Varying CoGx

Cormfort [m/s2] (lyy=50.2870. Speed=25.0000, CoGx [m]=0.0034)

13

12

1 "

10 '
315
a1
305

5

4

Mass [kg]

0662 0654 D666 0668 067

CoGz [m]

Comfort [mis2] (lyy=50.2870, Speed=25.0000, CoGx [m]=0.0052)

Mass [ka]

0662 0684 0666 0668 067

CoGz[m]

0672 0674 0676

1.2.2.6.3 Varying speed

Comfort [mis2] (lyy=50.2870, Speed=

Mass [ka]

0B62 0654 D666 0.668
CoGz [m]

087

5.i
4

DEF2 0874 DEGTE

@
Mass [kg]

0662 0.664

13 i

12 18

" 158

10
1.5
154
152
15
1.48
146

DEFZ 0.674 0676

Comfort [m/s2] (lyy=50.2870, Speed=15.0000, CoGx [m|

w

0686

182

067
CoGz [m]

0654 DEGE 0.658

087
CoGz[m]

D672 0674 0676

Comfort [m/s2] (lyy=50.2870, Speed=25.0000, CoGx [m]

5=i
4

0868

Mass [ka]

Comfort [mis2] (lyy=50.2870, Speed=25.0000, CoGx [m]=0.0103) _

13
- 525
12
n 1z
10
El 315
2,
)
= 8 31
7
3.05
[
5 3
4
0662 0864 0666 0868 067 D672 0674 0676
CoGz [m]

Comfort [m/s2] (lyy=50.2870, Speed=:

Mass [kg]

0672 0674 0676 0662 0864 0666 0668 06T

CoGz[m)

Comfort [mis2] (lyy=50.2870, Speed=

3.3
13
33
12
1 325
10 32
315
31
3.05
5
3
4

D662 0654 0BE6 0868 067 DETZ 0674 DETE
CoGz [m]

Mass [kg]

Comfort [mis2] (lyy=50.2870, Speed=20.0000, CoGx [m]=0.0034) _

0862 0654 0666 0.668
CoGz [m]

067 0E72 0674 0676

D672 0674 0676

5.0000, CoGx [m]=0.0086) 33



1.2.2.7 Variation with mass and CoGx
1.2.2.7.1 Varying I,
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1.2.2.7.3 Varying speed
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1.2.2.8 \Variation with CoGz and CoGx
1.2.2.8.1 Varying I,
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1.2.2.8.2 Varying mass
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1.2.2.9 \Variation with CoGz and Iyy
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1.2.2.9.3 Varying speed
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1.2.2.10.2 Varying mass
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